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1. Use the trapezoidal rule to estimate folf(x) dx from the data given below:

x 0.00 | 0.25 0.5 0.75 | 1.00

fx) | 24 | 26 | 29 | 32 | 36

2. Given a parabola with vertex (—2, 1), opening to the right and passes through the point (3, 6).
Find the equation of the parabola and determine its focus.
3. Evaluate the following integrals:
a. [ sin6x cos4x dx
b. [(3tanx + 4)° sec? x dx
4. Use the Newton-Raphson method with initial approximation x; = 1 to find Y2 on [0, 2] correct
to three decimal places.
5. Find the equation of a circle x2 + y? + 2gx + 2fy + ¢ = 0 which passes through the points
A(0,1),B(3,—2) and C(—1,—4). Hence, determine its center and radius. Find the points of

intersection of the circle with the y-axis.
6. Giventhat f(x) = ﬁ and g(x) = E.
a. Onthe same axes, sketch the graphs of f and g for the values of x between x=0and x =
2. Shade the region R bounded by f, g, x =0 and x = 2.
b. Find the area of region R.
c. Find the volume of the solid generated when the region R is rotated through 2m radian
about the x-axis.
7. (a) The amount Q(t) of radioactive substance present at time t in a reaction is given by the

differential equation
aQ
dt

where k is a positive constant. If the initial amount of the substance is 100mg and is

decrease to 97 mg in 6 days, determine
i. The half-life of the substance
ii. The amount of radioactive substance present after 30 days.

b. Find the general solution to the differential equation
dy_ o —
(1+x)dX y=1+x.

8. Given two straight lines,

x—1 +2 _ z X+2 z—4
Lpt="—=22=2 and Lyt="2=2 =20
-3 8 -3 10 10 -7
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a. Show that L; and L; are not parallel and find the acute angle between the two straight

lines.
b. Determine intersection poin between L; and plane II: 2x — y + 5z + 25 = 0.

c. Find an equation of the plane containing L; and L,.

2
9. (a) Find the values of A, B, C and D if 0 A4 5 ¢

x2(x-3) «x x2 (x-3)"

1 249
(b)Hence, evaluate f—z x:(;_@

10. Given P, Q and R are three points in a space where
PQ=a=3i—j+k, PR=b=2i+j-3k
and the coordinates of Ris (3, O, 1).

a. Hence, show that
i. aand b are not perpendicular.
ii. |axb|? = |al?|b|? — (a.b)?
b. Find the area of triangle PQR.
c. Find the Cartesian equation for the
i. Plane that passes through the points P, Q and R.

ii. Line that passes through the point R and perpendicular to the plane in part (i).

END OF QUESTION PAPER
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1. Use the trapezoidal rule to estimate folf(x) dx from the data given below:

x 0.00 | 0.25 0.5 0.75 | 1.00

fx) | 24 | 26 | 29 | 32 | 36

SOLUTION

h=0.25-0.00=0.25

X f&)

xo = 0.00 Yo 2.4
x; = 0.00 V1 2.6
x, = 0.00 Vs 2.9
x3 = 0.00 V3 3.2
x4 = 0.00 Va 3.6

Total 6.0 8.7
[ ; F(x) dx= %[6.0 +2(8.7)]

=2.925
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2. Given a parabola with vertex (—2, 1), opening to the right and passes through the point (3, 6).

Find the equation of the parabola and determine its focus.

SOLUTION

Open to the right

(y—k)* =4p(x—h)

Vih,k)=V(=2,1)

h=-2, k=1

(y-1* =4p(x—(-2))

(y=1* =4p(x+2)

At (3, 6):
(6-1)>=4p(3+2)
25=20p

PZZ

(y-1)7° = 4(%)@ +2)

(y—l)2 =5(x+2)

F(h+p,k)=F(—2+%,1j
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3. Evaluate the following integrals:
a. [ sin6xcos4x dx

b. [(3tanx + 4)° sec? x dx

SOLUTION

a)

j sin 6x cos 4x dx = j %[sin( 6x + 4x) + sin( 6x — 4x)] dx

:lj sin 10x +sin 2x dx
2

2 10

= —LCOSIOx—lCOSZX-l-C

du

b 3t +4)ysec’xde=|u | —

)J'( anx+4)” sec” x dx J.u(3j
_Le s

—Ej‘u du

6
=lu—+C
306

:i(3tanx+4)6 +C
18

1( cos10x c0s2xj
- +

u=3tanx +4

du=3sec’ x dx
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4. Use the Newton-Raphson method with initial approximation x; = 1 to find Y2 on [0, 2] correct

to three decimal places.

SOLUTION
Letxzﬁ/i
xt=2
x*=2=0
fx)=x"-2
f(x)=6x
N S(x,)
xn+1_xn_y—
S'(x,)
(x, —2)
Xpa = n~ . 5
6x,
x =1
6_
2=1—[(16)(T2]=1.1667
6_
x;=1.1 67—w=1.1264
6(1.1667)
6_
x, =1. _wzl_lzzs
6(1.1264)
6_
xs=1.1 5—w=1.1225
6(1.1225)
x=1.123
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5. Find the equation of a circle x2 + y? + 2gx + 2fy + ¢ = 0 which passes through the points

A(0,1),B(3,—2) and C(—1,—4). Hence, determine its center and radius. Find the points of

intersection of the circle with the y-axis.

SOLUTION

x2+y2+2gx+2fy+c=0
0,1): (0)* +(1)* +22(0)+2f(D)+c=0

1+2f+c=0
2f+c==1 . (1)

(3,-2): 3 +(-2)> +22(3)+2f(-2)+c=0
13+6g—4f+c=0
6g—4f+c=-13 ...l (2)

1,4 : (=D’ + (4> +22(-D+2f(4)+c=0
17-2g-8f+c=0

—2g-8f +c=—17 ..., 3)
2)—(1): 6g-6f=-12
g—f=-2 4)
G)-(): —2g-10f=~16
—g-5f=-8 (5)
(4)+(3): —6f=-10
5
/=3
C el
4): g-3=-2
__1
£773
(1): 2[§j+c=—l
13
e 13
3

1 5 13
Tyt 2 -+ 2 Sy -— =0
Y (3}“ @y [ 3)
3x7 +3y° —2x+10y-13=0

clg-n=c3.-3)

3
r=+yg>+f>—c
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At y-axis, x =0
3(0)* +3y° —2(0)+10y—-13 =0
3y +10y—13=0
By+13)(y-1)=0

__B or y=1
4 3

The points of intersection are (0 , —%J and (0, 1)
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6. Giventhat f(x) = ﬁ and g(x) = "

a. Onthe same axes, sketch the graphs of f and g for the values of x between x =0 and x =
2. Shade the region R bounded by f, g, x =0 and x = 2.

b. Find the area of region R.

c. Find the volume of the solid generated when the region R is rotated through 2m radian

about the x-axis.

SOLUTION
f=—— . g)="
x+3 £ 4
2)

g(x) =;

b Lo
4 x+3
x*+3x=4
x*+3x-4=0
(x+4)(x-1)=0
x=—4 or x=1
From graph, x=1

Az.[:z y dx

Area =| ———dx+
O x+3 4

4 x+3

1] X sz 1
1

= 1n(x+3)—%2} +{§—]n(x+3)}

0 1

= 1n4—ﬁ}—[1n3—0]+{@—]115}—{&—]114}
8 8 8

0.315 unit?
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©)
Vz;rji2 y? dx
1 ~ | 1 2 X 2 ) X 2 1 2 ) o .
Voume-;z_[o 3 "2 dx+7rfl 7)) 7353 dx I—m o= [ (x+3) 7 dx
2 _ (x+3)"
=7Z'Il ! z—x—a’x+ﬂ'j2 1 5 dx _( -1 j
O (x+3)" 16 116 (x+3) |
1 X’ 1 X’ 1 ’ 2
=fl-————| +t7|—+——=
x+3 48], 48 x+3],

A Gl s

=—" 7 unit’
2

kv tau
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7. (a) The amount Q(t) of radioactive substance present at time t in a reaction is given by the

differential equation

dQ_
dt

where k is a positive constant. If the initial amount of the substance is 100mg and is

decrease to 97 mg in 6 days, determine
i. The half-life of the substance
ii. The amount of radioactive substance present after 30 days.

b. Find the general solution to the differential equation

dy _
(1+x)&—y—1+x.

SOLUTION
do
a) —=—k
) ” 0
1
i) | =dOo=|-kdt

[ 50
mhQ=-kt+C

Q :e—kt+C

Q :ekteC
O=Ade™*" where 4=e
t=0, O0=100
100 = 4™
A=100
0=100e™"
t=6, 0=97
97 =100
0.97 =e™*
n(0.97) =— 6k

k = 0.00508

Q — 100 e—0.005081‘
50 — 100 e—0.00SO&‘

0.5 = o 000508

In(0.5) = —0.00508 ¢

t =136 days
i) 0 =100 o 00050830)
0 =85.86 mg
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b) (1+x)ﬂ—y:1+x
dx
dy 1

dx l+x

Dy Py = 0(x)
dx

P(x) =—$ . 0 =1

V(x) = e.[P(x)dx

I—L dx
V(ix)=e =

—e In(l+x)
_ eln(1+x)']

=(1+x)"
1

:1+x

V(x)y = [ V(x)O(x)dx

[Feap=Ilmmpoe

= de
1+x
Y m(1+x)+C
1+x
y=(1+x)(In(1+x)+C)
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8. Given two straight lines,

- 2 —4
Lyit="= Z and Lyt=22=2 22
10 10 -7
a. Show that L; and L; are not parallel and find the acute angle between the two straight
lines.

b. Determine intersection poin between L; and plane I1: 2x — y + 5z + 25 = 0.

c. Find an equation of the plane containing L; and L,.

SOLUTION

a) v, =-3i+8;-3k
v, =10i+10,-7k

ik a and b are parallel
vxv,=-3 8 -3 — axb=0
10 10 -7

= (=56 +30)i — (21 +30) j + (30 — 80)k
= —26i 51 110k
#0

L, and L, are not parallel

vy v, = (-3i+8=3k)- (10 +10,/ - 7k)
=-30+80+21
=71

v =) +82 4 (-3 =R2
|v,| =102 +10% +(=7)* =249

VitY, =|‘_’1 ||‘_’2 |COS‘9

71 = (@)(@)cos@
0 =60.2°

b) 7:2x—y+5z+25=0
Parametric equation of line L,
x=1-3¢t, y=-2+8¢t, z=-3¢
substitute equation of line into equation of plane
2(1-3t)—(—2+8t) +5(-3t)+25=0
2-6t+2-8t—15¢t+25=0
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29-29¢ =0
—29¢ =29
t=1
x=1-31)=-2
y=-2+8(1)=6
z=-3(1)=-3

The intersection point is (-2, 6, -3)

C) n=v, xv,
=-26i—51-110k
a=i—-2j

Equation of plane

r-n=a-n

—26x—51y—110z = -26(1) —51(-2) —110(0)
—-26x-51y—-110z =76
26x+51y+110z =-76
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2
9. (a) Find the values of A, B, and C if S é+£+ ¢

x2(x-3) x  x2  (x-3)

1 2
(b)Hence, evaluate f_z x;f(;_gg)

SOLUTION

x*+9 A4 B C
Q) 5 —— =+t
x(x-3) x x° (x=3)
x° 49 = Ax(x—3)+ B(x —3) + Cx’
x=0: 9=B(-3)
B=-3

x=3: 3)°+9=C3)°
18=9C
Cc=2

x2 . 1=A4+C
1=4+2
=—1

x*+9 1 3 2

= +
x*(x—=3) x x° x-3

X +9 13 2
L e i F R e
x“(x-3) x x° x-3

3 1
{_m|x|+_+21n|x_3|}
X )

:{—ln|1|+§+2h1|—2|}—{—ln|—2|+i+2ln|—5|}
I 2)

=3.36
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10. Given P, Q and R are three points in a space where

PQ=a=3i—j+k, PR=b=2i+j—3k
and the coordinates of Ris (3, 0, 1).
a. Hence, show that
i. aand b are not perpendicular.
ii. |axb|? = |al?|b|? — (a.b)?
b. Find the area of triangle PQR.
c. Find the Cartesian equation for the
i. Plane that passes through the points P, Q and R.

ii. Line that passes through the point R and perpendicular to the plane in part (i).

SOLUTION

—_

a) PO=a=3i—j+k ., PR=b=2i+j-3k ,R(3,0.1)

) ab=QCi-j+k)-(2i+j—=3k)

=6—1-3
=2 a and b are perpendicular
#0 = a-b=0

a and b are not perpendicular

ik
i) axb=p3 -1 1
2 1 -3
=GB-Di-(-9-2);+(B+2)k
=2i+11j+5k )
laxb|=+2%+11% +5> = /150
laxb|’ =150
la|=y3" +(-D)* +1> =11
|af* =11
b =422 +12 +(-3)* =14
b =14
ab=2
(a-b)*=2%=4
|al*|b]" = (a-b)* = (11)(14) - (4) =150
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b) POxPR=axb=2i+11/+5k
‘}@xﬁé :|c_1><l_)|: 150

Area of triangle PQR = %‘ P_Q x PR

:%\/15()

=6.124 unit’

¢ i) n=POxPR=2i+11j+5k
R(3,0, 1)
Cartesian equation of plane
2x+11y+5z=2(3)+11(0) + 5(1)
2x+11y+5z=11

) yv=n=2i+11;+5k
a, =3i+k
Cartesian equation of line
x=3_y_z-1
2 11 5
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